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eWe will copy some graded
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1a 1 4 25
1b 1 5 15
1c 1 6a
1d 1 6b
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*IF YOU ARE PRINTING THE TEST AND WRITING ON IT, USE THE NEXT PAGE FOR ANSWERS.

a. Using Node Voltage Analysis, write an Ohm's Law expression (in terms of V; and V) for the
current going through the 4 Q resistor.

b. Under the same assumption, write an Ohm's Law expression (in terms of V, and V) for the
current through the 1 Q resistor.

c. Continuing, write an expression (in terms of V, and V,) for the current through the 2 Q
resistor.

d. Now, combine the answers to 1a,b,c into a KCL equation for Node 1.

e. Write the KCL equation for Node 2 (in terms of V; and V).

2

You now have 2 equations in 2 unknowns. Solve them for V; and V,.

3

Now that you know V;, you can compute I.
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The switch has been in position A for a Long Time.
At t=0, it moves instantaneously from A to B. Find
the trajectory of the current i(t).

a. What is the current i(07)?
b. What is the current i(0*)?
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W
In this circuit, w=6283 rad/s. ; 0.75 H
a. Find 2. 6,) 1.8KQ
b. Find Z.
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